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PART — A (¥1-%)

What 15 an information society ? How 1s 1t different

from post-industrial society ? {13)
OR

Evaluate the theory of Pluralistic Industrialism (13)
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PART - B (¥ -@&)

Discuss the nature of Bureaucracy in Industrial
Society (13

OR

How has industrial conflict been conceptualised 1n
different theoretical perspectives? (13)
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PART - C (¥wr-71)

3 Wnite an essay on the nature of Labour Policy mn
India (12)

OR

Write short notes on the following
(a) Logic of industrialism
{(b) Issue of unllon recogmition 6, 6)
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